
Spiel 1 Spiel 2 Gesamt

Spiel 001 19:05 A 1 HIESZBÖCK Horst 54 + 58 = 112 #

A 2 HAHN Manfred 48 + 51 = 99

Spiel 003 19:23 A 3 JURKOWITSCH Thomas 41 + 51 = 92 O

A 4 WIMMER Gottfried 58 + 49 = 107 #

Spiel 002 19:13 A 4 WIMMER Gottfried 53 + 57 = 110 # O # O

A 1 HIESZBÖCK Horst 65 + 49 = 114 # # # #

Spiel 004 19:32 A 2 HAHN Manfred 67 + 59 = 126 # # O

A 3 JURKOWITSCH Thomas 44 + 55 = 99 # #

Spiel 005 19:39 A 2 HAHN Manfred 60 + 59 = 119 #

A 4 WIMMER Gottfried 63 + 45 = 108

Spiel 006 19:47 A 1 HIESZBÖCK Horst 54 + 49 = 103 #

A 3 JURKOWITSCH Thomas 42 + 51 = 93 O


